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ENGLISH VERSION

Instructions : (1) The figures on the right side indicate marks.
(2) All questions are compulsory.
(3) Working note is the part of your answer.

1  Division-A is a profit centre which produces four products 20
P, Q, X and Y. Each product is sold in the external market also.
Data for the period are as follows :

Particulars P Q X Y

Market Price (For 100 units) Rs. [15,000 |14,600 |14,000 {13,000
Variable cost (For 10 units) Rs. | 1300 | 1000 900| 850
Direct labour (Per unit) Rs. 60 40 24 33
Labour Rate (Per hour) Rs. 20 10 12 11

Product Y can be transferred to Division-B but the maximum
quantity required for transfer is 1250 units of Y.

The maximum sales in the external market are

P : 1400 units, Q : 1250 units, X : 1150 units, Y-800 units.
Division-B can purchase the same product at a slightly cheaper
price of Rs. 125 per unit instread of receiving transfer of product-
Y from Division-A.

What should be transfer price for each unit of "Y", the total labour
hours available in Division-A are :

(1) 10,000 Hours

(2) 15,000 Hours

(3) 17,650 Hours

OR
1 Maheshwari Co. Ltd. has two division 20
- Division-A
- Division-B

Division-A has budgeted selling of components "GMH" to fetch

1
a return of 335% on average capital employed. The following

particulars are available for divison-A.
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° Production .......cccoeeeeeeeeeeeeiiiieeeeeceeeeeeen 2,70,000 units

o  Variable EXp. ..covviviieiiiiiiiieieeeeeee, Rs. 2.80 per unit
° Fixed Exp :
For factory ....coceeeveeeciieeieeeeeeeee e, Rs. 3.85,000
FOr OffiCe ...uuuuuumiiiiiiieieiieeeeeeeaaes Rs. 1,14,000
e  Average capital employed :
Fixed aSSetS ......eueeeeeeeeeeeeeeenievenenenenenennnnns Rs. 6,00,000
N 1016 Rs. 5,00,000
Liquid ASSELS ..eeevovveeeiiieeiieeeiieeeiee e Rs. 4,00,000

Only 2,10,000 units of components "GMH" can be directly sold
to the market at the propose price. The balance units can be taken
by Division-B.

Division-A wants a price of Rs. 5.50 per unit of component
"GMH" but Division-B is ready to pay Rs. 4.50 per unit of "GMH".
Division-A has another option, which is to procedure only
2,10,000 units of component "GMH". This unit reduce the holding
of assets by Rs. 1,06,500 and fixed expenses by Rs. 75,000.
Which option will you recommend ? Why ?

2 The Sanyam Company is doing business of outsourcing and 20
currier service. Its main office is in Mumbai and branch is located
in Chicago. The currency of Chicago is U.S. Dollar. The trail
balance of this company as on 31-3-2022 is mentioned as

under :
Particulars Dr. Amt. Cr. Amt.
in $ in$
e A/c of head office - 32,800
e Purchases and sales 9,000 22,000
e Debtors and creditors 1000 800
e Opening stock 4000 -
e Cash and Bank 800 -
e Computer 18,400 -
e Other fixed assets 18,400 -
e Branch operating expenses 4,000 -
55,600 55,600
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Other fixed assets and computers are purchased on dated
1-4-2021. At the end of the year closing stock is valued at
3200 Dollar. In the books of head office, balance of branch
account is Rs. 16,00,000.

Date : 31-3—-2021|31—-3—-2022 | Average
Rate of
| Dollar Rs. 47 49 48

According to the AS-11, prepare convertable trial balance,
Branch Trading A/c, Branch P&L A/c and Balance Sheet as on
31-3-2022.

OR

Shubham Ltd. commenced manufacturing readymade shirts
business from 1-4-2021. It has produced 2 lakh shirts upto the
year 31-3-2022 at a cost of Rs. 200 per shirt (unit).

The company sold 75% units of total production to Akola
situated wholesale trader at a wholesale price and 15% units of
total production sent to the Thane based branch at a wholesale
price.

At the end of the year, stock remained unsold.

With wholesale trader 15,000 units,
With wholesale branch 3,000 units,
With head office 2000 units.

Head office and Branch have incurred selling expense of
Rs. 20 per unit sold on M.R.P. basis. The wholesale price and
M.R.P. fixed by head office were :

e M.R.P. = Cost + 75% of cost
e Wholesale price = M.R.P. - Rs. 50

Including head office they each have sold units on

M.R.P. basis.
You are required to
(1) Find closing stock reserve of the branch.

(2) Gross profit and net profit of head office and branch.

20
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(a) Saloni Ltd. imported certain stock worth US($) 36,000
on 31-12-2020. When 1 US($) = Rs. 68. The payment is
made on 20-4-2021 when 1 US($) = Rs. 69. The stock is
in hand and lying unsold as on 31-3-2021 when the company
closes its accounts.

Give journal entries under AS-11 if the rate on the balance
sheet data was 1 US($) = Rs. 66.
(b) Explain in short :

(I) GDR

(2) PSU

(3) FDI

(4) Currency
(5 FI

OR

Vihan Ltd. has purchased on fixed assets for 12 lakh $ as on
30-6-2004. Out of this amount foreign currency loan is to be
given of 10 Lakh $. Where as remaining amount is to be given
as government subsidy. For foreign loan 10% interest annually
is calculated. 1 dollar exchange rate is mentioned as under :
e At the time of purchase of assets = Rs. 36

e As on 31-12-2004 = Rs. 36.50

e As on 31-12-2005 = Rs. 37

Company closes his accounts on 31st December every year.
Depreciation@]15% per annum is to be calculated with diminishing
balance method. On 31-12-2004 and 31-12-2005 company has
paid 2 lakh dollar and 1.5 lakh dollar respectively with interest.
From above information as per AS-11 calculate the following :
(1) Calculation of depreciation for both the years.

(2) Balance brought down amount of assets for both the years.

Write short notes : (any three)

(1) Importance of Accounting Standard.
(2) International Accounting Board.

(3) AS-20 earning per share.

(4) Indian Accounting Standard-11.

(5) Attempt for developing accounting standard at national and

international level.
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